

Office of Purchasing and Supply Services

Diane Forde

Phone: 301.952.6560

Email: diane.forde@pgcps.org

Fax: 301.952.6605

Louis Wilson, Sr. Facilities Administration Building (FAB)
13300 Old Marlboro Pike, Room 20
Upper Marlboro, MD 20772
Phone: 301-952-6560 Fax: 301-952-6605

NOTICE OF AWARD Request for Renewal No. 1

March 30, 2021

Craftmaster Hardware 109 Veterans Drive Northvale, NJ 07647 Tel: 800.221.3212

Contact: Craig Logan

Email: mmiller@craftmaster.net & clogan@craftmaster.net

man. minimer@craitmaster.net & clogar@craitmaster.net

Subject: IFB 009-18 Locks & Related Accessories

This contract is effective through May 01, 2022.

The Board of Education of Prince George's County is exercising its option to **RENEW** the current contract for one (1) year. This signed agreement is your consummation of the contract renewal. The terms and conditions set forth in the contract award remain the same.

The intent of the contract and renewal is to provide the Board with an expedited means of procuring supplies and /or services at the lowest cost. This contract is for the convenience of the Board and is considered by Purchasing Department to be a "Non-Exclusive" use contract. The Board does not guarantee any usage. The Board reserves the right to purchase any item/items listed in the price schedule submitted.

In the event that a new solicitation is issued for these same services this contract renewal will be automatically terminated.

See the Contract Price Sheet

FOR THE BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY, UPPER MARLBORO, MARYLAND 20772-9983

	Director of Purchasing and Supply Services
SIGNATURE	TITLE
Keith Stewart	03/31/2021
NAME	DATE

IFB 009-18 Locks & Related Accessories

Notice of Contract Renewal No. 1

	03/31/2021
SIGNATURE	DATE
Mark Fossett	
NAME:	
Associate Superintendent for	Supporting Services
TITLE	
	03/31/2021
	03/31/2021
	, ,
SIGNATURE	DATE
SIGNATURE	
Barry Stanton	
Barry Stanton NAME:	
Barry Stanton	

CraftMaster Hardware

IFB:009-18 Renewal No. 1 **CONTRACT PRICING**

ITEM	DESCRIPTION	Unit	Est. Qty	Unit Price	Total Price	
1	Cylinder, BEST #83K7A4. (*5680-4391) BRAND NAME ONLY	Each	10	\$273.98	\$2,739.80	
2	Cylinder, BEST #83K7R4A. (*5680-4392) BRAND NAME ONLY	Each	10	\$273.98	\$2,739.80	
4	Cylinder, SCHLAGE #23-001 (E) Series, (6-Pin); for Schlage D Series Lock. (*5680-4371) BRAND ONLY	Each	50	\$30.97 \$27.29	\$1548.50 \$1,364.50	2018-7% 2019-3% 2020-3%
	Cylinder, SCHLAGE #23-001 (F) Series, (6-Pin); for Schlage D Series Lock. (*5680-4374)		50	\$30.97 \$27.29	\$1548.50 \$1,364.50	2018-7% 2019-3% 2020-3%
5 6	BRAND ONLY Install-A-Lok, #4S-2 (5680-4429)	Each Each	50	\$13.75	\$687.50	
7	Install-A-Lok, #1S-1-3/8 - 2-3/8 (5680-4464)	Each	50	\$11.25	\$562.50	
8	Lock, SCHLAGE #D10S PLY 626.(5680-4415) DISCONTINUED	Each	20	\$153 .51 -	\$ 3 ,070.20	
9	Lock, SCHLAGE #D40S PLY 626. (5680-4417) DISCONTINUED	Each	30	-\$192.05-	\$5,761.50-	
10	Lock, SCHLAGE #D70PD PLY 626. (5680-4413) DISCONTINUED	Each	75	\$223.67-	\$16,775.25-	
11	Lock, SCHLAGE #D53PD PLY 626. (5680-4414) DISCONTINUED	Each	60	\$223.67-	\$13,420.20	
12	Lock, SCHLAGE #D66PD PLY 626. (5680-4416) DISCONTINUED	Each	5	\$244.42-	\$1,222.10	2010 70/
13	Lock, SCHLAGE #A53PD PLY 605. (5680-4419)	Each	5	\$89.30 \$78.73	\$446.50 \$393.65	2018-7% 2019-3% 2020-3%
14	Lock, Dead, SCHLAGE #B160N BRAND ONLY PLY 626, 6-Pin (5680-4427)	Each	25	\$75.30 \$66.35	\$1882.50 \$1,658.75	2018-7% 2019-3% 2020-3%
15	Lock, Dead, SCHLAGE #B162P BRAND ONLY PLY 626, DOUBLE CYLINDER, 5 Pin. (5680-4426)	Each	10	\$71.45 \$63.53	\$714.50 \$635.30	2018-7% 2019-3% 2020-3%
16	Lock, SCHLAGE #A70PD PLY 626. BRAND ONLY (5680-4422)	Each	10	\$84.80 \$74.78	\$848.00 \$747.80	2018-7% 2019-3% 2020-3%

NOTICE OF CONTRACT AWARD IFB 009-18

	Last COLUA CE #A52DD DI V 626 DD AND		i.	\$84.80	\$848.00	2018-7% 2019-3%
17	Lock, SCHLAGE #A53PD PLY 626. BRAND ONLY (5680-4418)	Each	10	\$74.78	\$747.80	2020-3%
18	Lock, Drawer, Cat. #30, #02066 CCL Security Products, 7/8" long cylinder (5680-4369)	Each	200	\$4.45	\$890.00	2010 2.70/
19	Padlock, MASTER #1KA2595 with 1 1/2" long shank (5680-4383) BRAND ONLY	Each	150	\$7.97 \$7.69	\$1195.50 \$1,153.50	2019-3.7%
20	Padlock, MASTER #1KA2359. BRAND ONLY (5680-4386)	Each	200	\$7.05 \$6.80	\$1410.00 \$1,360.00	2019-3.7%
21	Padlock, MASTER #1D. (5680-4380) BRAND ONLY	Each	25	\$6.62 \$6.25	\$165.50 \$156.25	2019-6%
22	Padlock, MASTER #3D. (5680-4379) BRAND ONLY	Each	10	\$5.77 \$5.45	\$57.70 \$54.50	2019-6%
23	Padlock, MASTER #5D. (5680-4378) BRAND ONLY	Each	50	\$8.40 \$ 7.93	\$420.00 \$396.50	2019-6%
24	Padlock, MASTER #7D. (5680-4377) BRAND ONLY	Each	10_	\$4.58 \$4.32	\$45.80 \$43.20	2019-6%
25	Padlock, MASTER #3KA3252. (5680-4385) BRAND ONLY	Each	300	\$6.21 \$5.99	\$1863.00 \$1,797.00	2019-3.7%
28	Lock, Schlage #D53DRHOPLY626 BRAND ONLY Office Function (5680-4438)	Each	5	\$289.00 \$258.73	\$1445.00 \$1,293.65	2019-3% 2020-3%
29	"8-Line", Sargent #8GO5BC26D-LA BRAND ONLY or LG, Office Function (5680-4456)	Each	10	\$300.45	\$3,004.50	2019-6%
30	Padlock, Master #2595, with 2-1/2" Shackle. (5680-4388) BRAND ONLY	Each	30	\$8.20 \$7.91	\$246.00 \$237.30	2019-3.7%
	Lock, Deadbolt, Classroom Function, SCHLAGE BRAND ONLY, B463P-626-6 pin C Keyway (5680-4421) (B663P-626) new part			\$75.30	\$1882.50	2018-7% 2019-3% 2020-3%
33	number	Each	25	\$66.35	\$1,658.75	
34	Padlock, #3 Keyed Alike, MASTER BRAND ONLY, 3KA-0814 (5680-4372)	Each	25	\$6.21 \$5.99	\$155.25 \$149.75	2019-3.7%
	Lock, Schlage #S40D-626, 1-3/8" to 1-7/8" Dr., 2-3/8" and 2-3/4" Backseat, BRAND		10.300 to	\$247.00	\$6175.00	2018-7% 2019-3% 2020-3%
35	ONLY (5680-4437)	Each	25	\$218.22 \$89.30	\$5,455.50 \$1071.60	2018-7%
52	Lock, Schlage A70 PD, Ply 3 (5680-4423) BRAND ONLY	Each	12	\$78.73	\$944.76	2019-3% 2020-3%
53	Lock, Schlage D40S-RHO 626, C-Key (5680-4436) BRAND ONLY	Each	12	\$247.00 \$218.22	\$2964.00 \$2,618.64	2018-7% 2019-3% 2020-3%

NOTICE OF CONTRACT AWARD IFB 009-18

55_	Lock, Schlage D70 PD RHO, 626 CKE (5680-4435) BRAND ONLY	Each	30	\$274.00 \$258.73	\$8,220.00 \$7,761.90	2018 2019 2020
	Grand Totals				\$82,866.85	
	Percent Off Discount					
1A	BEST	627	55%			
2A	SARGENT		52%			
3A	SCHLAGE		45%		100 (A)	
4A	YALE		50%			
5A	MASTER		40%			
9A	RUSSWIN		55%			
10A	CORBIN (Excludes Door Closers)		55%			
11A	ABUS		40%	2 0		
18A	ASSA		55%			
	Additional Manufacturers Percentage					
2550000 40	Craftmaster Hardware		55%			
	DELIVERY FOR PERCENTAGE-OFF PURCHASES: 25 CALENDAR DAYS AFTER RECEIPT OF ORDER.					

2018-7% 2019-3% 2020-3%